(118) AM2HZH a2t HF=TH SHLHSF
ol 2M = e =3 ARt | iAol | ZA gy
1 [AMEIEZH T (F=A] XS 2Y) 50,000| 2012-11-01 k=)
2 |AEIMEH (AR ARt ks o E 2 Z2HE S 75,900 2012-11-02 7 e
3 |AEEZEAMT |HEexedaE 2 He 74,500| 2012-11-05 6 =
4 |AMEEZEMT |olESSH7IY ME BE 2 S 92,400| 2012-11-07 7 e
5 (A=l EZAF T o3 SH7IY MY 2E e (SR X ) 29,600| 2012-11-07 7 Ite
6 [AEIEGH I AR AT LR uk2ts] JHE 2 2HE S 124,000 2012-11-08 12 =
7 [AEEZEH I (2012 M2 ALSI A A otolC|of A Al HBE A ZHEE 157,000 2012-11-12 14 =
8 (At EGH I |AEHAM MEA| tHED R 2 2HE S 116,600| 2012-11-13 4 e
9 |AtE[EZEA T |HexE AREE A US| 82,000 2012-11-21 7 e
10 [AtEIMZHA L |oflH|ALE| M7 o A AL 2H 2HENS] 30,000] 2012-11-22 4 7t=
11 |AMEIHZHE ez 72y MY #o| 2H>H ZiokE 88,500| 2012-11-23 8 7t=
12 |AE AT |gHexf7iedy Al S2EF 2e 2Hes 75,900 2012-11-29 7 Ite




